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QUESTION 1

Which Java type can be used to represent arbitrary XML data in a JAX-WS service endpoint interface? 

A. javax.xml.soap.SOAPNode 

B. javax.xml.soap.SOAPPart 

C. javax.xml.soap.SOAPElement 

D. javax.xml.soap.SOAPException 

E. javax.xml.soap.SOAPMessage 

F. javax.xml.soap.Node 

Correct Answer: C 

 

QUESTION 2

Given: 

1.

  

2.

  

3.

  

4.

 Sun Solaris 

5.

 99.99 

6.

  

7.

 Solaris for Intel 

8.
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9.

 A358185 

10.

  

11.

  

Which statement is correct? 

A. The message is SOAP-encoded because the encoding style is implied. 

B. The message is RPC-encoded because in the absence of other specifiers, this is the WS-I default. 

C. The message is document literal with type encoding, based on the schema provided. 

D. The message is document literal wrapped because there is no encoded type information. 

Correct Answer: C 

 

QUESTION 3

Which statement is true about JAX-WS dynamic invocation? 

A. Dynamic invocation clients use RPC typed interfaces to invoke the Web service. 

B. Dynamic invocation lets clients access a Web service without a WSDL. 

C. Dynamic invocation clients are bound at design-time to a single Web service. 

D. Dynamic invocation requires the client to statically configure the Web service proxy. 

E. The dynamic proxies provide dynamic invocation in JAX-WS. 

Correct Answer: B 

 

QUESTION 4

Given the Java fragment and schema: 

1.

 //-- Java code fragment 

2.

 public class PurchaseOrder{ 

3.
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 public javax.xml.datatype.XMLGregorianCalendar orderDate; 

4.

 } 

5.

 //-- Schema fragment 

6.

  

7.

  

8.

  

10.

  

11.

  

Which two statements are true about .Net and WCF interoperability for this data? (Choose two.) 

A. The GregorianCalendar maps to an equivalent date type in both Java and .Net. 

B. .Net will generate code with the calendar as a string that functions as well as a date. 

C. .Net will generate code with the calendar as a string that is not type equivalent. 

D. Use of the @XmlSchemaType annotation causes .Net to properly map to a date. 

E. Casting in the case of WSIT services is an effective approach for the WCF client. 

Correct Answer: CD 

 

 

QUESTION 5

Which statement is true about the mapping of a UDDI tModel in the JAXR 1.0 specification? 

A. JAXR APIs cannot be used with a UDDI registry using tModels. 

B. UDDI tModels are mapped to the JAXR ServiceBinding interface. 

C. UDDI tModels are mapped to JAXR ServiceBinding and JAXR Organization. 

1Z0-863 PDF Dumps | 1Z0-863 Exam Questions | 1Z0-863 Braindumps                                4 / 9

https://www.pass2lead.com/1z0-863.html
https://www.pass2lead.com/1z0-863.html
https://www.pass2lead.com/1z0-863.html


https://www.pass2lead.com/1z0-863.html
2023 Latest pass2lead 1Z0-863 PDF and VCE dumps Download

D. UDDI tModels are mapped to JAXR ClassificationScheme and JAXR Concept. 

Correct Answer: D 

 

QUESTION 6

A stateful Web service is implemented as an EJB-based endpoint. What are two ways to maintain that state? (Choose
two.) 

A. by using URL re-writing 

B. by adding a session cookie to the HTTP headers 

C. by adding a conversation id to the SOAP headers 

D. by requiring clients to send a client id parameter to all methods 

Correct Answer: CD 

 

QUESTION 7

RESTful Web services have an interface of well-known standard operations, and all services are accessed through this
interface. What are the four standard operations available for RESTful Web services? (Choose four.) 

A. GET 

B. CONNECT 

C. PUT 

D. SUBMIT 

E. POST 

F. HEAD 

G. DELETE 

Correct Answer: ACEG 

 

QUESTION 8

Which two statements are true about the role of XML schemas in Web services? (Choose two.) 

A. DTDs provide stricter data typing than XML schemas. 

B. XML schemas can be used to validate the organization of XML documents. 

C. XML schemas contain a vocabulary, content model and data types. 

D. DTDs are easier to map to Java than XML schemas, and so remain more popular. 
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E. The W3C recommends that XML schemas be referred to as XSD. 

F. The W3C has designated that XML schemas be referred to as WXS. 

Correct Answer: BC 

 

QUESTION 9

Which two implementations of JSON Web services benefit from the inherent structure of JSON messages? (Choose
two.) 

A. remote procedure calls 

B. geocoding 

C. Enterprise Service Bus messaging 

D. map image 

E. stateful session management 

Correct Answer: BD 

 

QUESTION 10

Enterprise A invokes a Web service provided by enterprise B with some parameters, and receives a response. A
developer is making this interaction asynchronous so that A does not have to wait for B to finish processing. Which two
actions must be taken to fulfill this requirement? (Choose two.) 

A. establish a Web service endpoint for enterprise A to receive the response 

B. partition the endpoint implementation in to interaction and processing layers so responses can be received
independently 

C. convert all Web service methods to use XML documents as parameters and return values 

D. embed a correlation identifier in the request so that enterprise B can associate the response with it 

E. read messages from a queue populated by enterprise B at peak hours when response times are too slow 

Correct Answer: AD 

 

QUESTION 11

Which situation requires the client to use the Dispatch interface to access the Web service? 

A. The client and the server are on different platforms. 

B. The client has access to the portable artifacts, but not to the WSDL. 

C. The client has access to the WSDL, but not to the portable artifacts. 
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D. The client will access a REST-based service. 

Correct Answer: D 

 

QUESTION 12

A developer is writing a Web service method that needs to accept multiple types of requests. Based on the request\\'s
content, the service performs time-consuming steps, such as verifying the user\\'s account, checking credit ratings, and
building a list of offers. Which two approaches are appropriate to use in this situation? (Choose two.) 

A. a synchronous, document-style approach 

B. a synchronous, procedure-style approach 

C. an asynchronous, document-style approach 

D. an asynchronous, procedure-style approach 

E. HTTP and HTTPS 

F. SMTP or other asynchronous protocol 

Correct Answer: CF 

 

QUESTION 13

What are two valid facts about WS-I? (Choose two.) 

A. The I-Stack is a great development tool. 

B. The WS-I promotes and supports generic protocols for the interoperable exchange of messages. 

C. The WS-I governs languages and protocols such as SOAP, WSDL, and UDDI. 

D. The WS-I specifies specific rules that address either weaknesses in component specifications or issues of how to
combine the collected technology. 

E. The WS-I has been a guiding force in creating StAX. 

Correct Answer: BD 

 

QUESTION 14

Given: 

1.

 @WebService(name="LogInventory") 

2.
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 public class InventoryReader { 

3.

 @WebMethod(operationName=check) 

4.

 @OneWay 

5.

 public void checkProduct(String name); 

6.

 @WebMethod 

7.

 public void addInventory( 

8.

 @WebParam(name="total") int quantity) 

9.

 throws InventoryException; 

10.

 } 

Assume the code is free of gross flaws and syntax errors. 

Which two statements are true? (Choose two.) 

A. Line 8 specifies that addInventory accepts either a valid total or quantity. 

B. Line 1 indicates the portType is LoginInventory. 

C. Line 3 shows the method is mapped to the WSDL operation called checkProduct. 

D. Line 4 means that a method is not expected to return a value unless requested. 

E. Line 6 implies WSDL operation and method name are the same. 

Correct Answer: BE 

 

QUESTION 15

A developer must create a program to parse a medium-sized XML file looking for an instance of a specific element.
Once the developer has found the element, the value must be updated and saved to disk. Which two XML parsing APIs
should be used in this situation? (Choose two.) 
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A. SAX 

B. DOM 

C. StAX 

D. JAXM 

E. SAAJ 

Correct Answer: BC 
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